
cron
07. Attach the laser module

Written By: Paul Cronje

07. Attach the laser module Draft: 2021-01-19Guide ID: 41 -

This document was generated on 2021-12-23 12:10:07 PM (MST).

© 2021 cron.dozuki.com/ Page 1 of 7



Step 1 — Parts required

  

Laser Module 0.5W/2.5W or 5.5W

Taper laser mount

4 pcs M3x12 Cap Screws

Laser mounting bracket

1 pcs M4x12 Cap Screw

1 pcs M4 Lock Nut

Cable Holder

1 pcs M3x12 Cap Screw

07. Attach the laser module Draft: 2021-01-19Guide ID: 41 -

This document was generated on 2021-12-23 12:10:07 PM (MST).

© 2021 cron.dozuki.com/ Page 2 of 7



Step 2 — Tools required

 

2.5mm Allen Key

3mm Allen Key

Step 3 — Parts Required

TTL, PWM, NEJE interface transfer
board tester for laser module



Four pin laser line

The red cable is 12V, black cable is
GND, the yellow cable is TTL and
the green cable is Temperature



Input

Output

07. Attach the laser module Draft: 2021-01-19Guide ID: 41 -

This document was generated on 2021-12-23 12:10:07 PM (MST).

© 2021 cron.dozuki.com/ Page 3 of 7



Step 4 — Mount taper bracket to laser

Mount the Taper laser mount to the
laser with the taper towards the
bottom as shown



Fix it with the four M3x12 cap
screws



Step 5 — Mount the laser bracket

 

Mount the laser bracket to the spindle as shown

Make sure the bracket hooks onto the spindle bracket at the bottom

Clamp the bracket with the M4x12 cap screw and lock nut

07. Attach the laser module Draft: 2021-01-19Guide ID: 41 -

This document was generated on 2021-12-23 12:10:07 PM (MST).

© 2021 cron.dozuki.com/ Page 4 of 7



Step 6 — Mount cable holder

  

Remove the M3 screw and washer from the stand-off next to the X-motor

Mount the cable holder with the M3x12 cap screw as shown

The cable holder is used to secure the laser cable when the laser is removed from the machine

Slide the transfer board into the cable holder

Connect the tree point laser cable to the input and the four point cable to the output of the transfer
board and make sure the cables are in the right order.



07. Attach the laser module Draft: 2021-01-19Guide ID: 41 -

This document was generated on 2021-12-23 12:10:07 PM (MST).

© 2021 cron.dozuki.com/ Page 5 of 7



Step 7

  

Slot the laser into the bracket as shown

Connect the four point laser cable to the laser

Ensure that the order of the cables are correct

Red cable: +12V

Black cable: GND

Yellow Cable: TTL

Green cable: Temprature

07. Attach the laser module Draft: 2021-01-19Guide ID: 41 -

This document was generated on 2021-12-23 12:10:07 PM (MST).

© 2021 cron.dozuki.com/ Page 6 of 7



Step 8 — Connect laser to controller board

  

Connect the 2-pin connector from the mosfet board to the controller board as shown. It connects to
the Z+ pins and the black cable connects to the black pin and the red cable to the white pin



The green cable from the laser connector connects to the Z- pin. Please note it connects to the
white pin as shown.



Step 9 — Remount the fan

Mount the fan back onto the
controller board with the original M4
screws and nuts



Now the wires can be neatend
below the machine with the
remaining cable ties. Please note
that all the cables are designed for
the large CNC machine, thus the
small and medium machines will
have extra long cables.



07. Attach the laser module Draft: 2021-01-19Guide ID: 41 -

This document was generated on 2021-12-23 12:10:07 PM (MST).

© 2021 cron.dozuki.com/ Page 7 of 7


	07. Attach the laser module
	Written By: Paul Cronje
	Step 1 — Parts required
	Step 2 — Tools required
	Step 3 — Parts Required
	Step 4 — Mount taper bracket to laser
	Step 5 — Mount the laser bracket
	Step 6 — Mount cable holder
	Step 7
	Step 8 — Connect laser to controller board
	Step 9 — Remount the fan


